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          2. � �  ! � � " #  
          3. $ % � " & � ' ( ) " *  

 
 
1. �������� 1�������� Vs=100cos(t+30o��������������������

				a



���� ZL=? � � 
 � � � � � � � � �� � 
 � � � � � � � � �� � 
 � � � � � � � � �� � 
 � � � � � � � � � (maximum average power transfer)?				10 � 
� 
� 
� 
 
				b



����ZL����� � � � � �� � � � � �� � � � � �� � � � � � ? 				10 � 
� 
� 
� 
 
				c



���� � � �� �� � �� �� � �� �� � �� � (Vs) � �� �� �� � ? 				10 � 
� 
� 
� 
 
				d



�������� ab � � �  � � �  � � �  � � �  �������� RLC ! " �  # $ % �! " �  # $ % �! " �  # $ % �! " �  # $ % � (resonant frequency)? & '& '& '& ' ( ( )( )( )( )/****����rad/s) + , - . /+ , - . /+ , - . /+ , - . / 0000 				10 � 
� 
� 
� 
 
				e



���� ���� ab � � �  � � �  � � �  � � �  ����1 � �  + � 2 31 � �  + � 2 31 � �  + � 2 31 � �  + � 2 3 (resistive)? � 4 3� 4 3� 4 3� 4 3 (inductive)? 5 � 6 35 � 6 35 � 6 35 � 6 3 (capacitive)? 				10 � 
� 
� 
� 
 
				f



���� ���� ab � � �  � � �  � � �  � � �  ����+ 7 �  8 9 � 2 3 �  + 7 �  8 9 � 2 3 �  + 7 �  8 9 � 2 3 �  + 7 �  8 9 � 2 3 �  (resistive)��������! "! "! "! " : ; < =: ; < =: ; < =: ; < = ? 				10 � 
� 
� 
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2. �������� 1�������� ZL=RL=1>>>>����
				a



���� ����VL�? @ A B C�? @ A B C�? @ A B C�? @ A B C 
 D E F
 D E F
 D E F
 D E F (homogeneous solution) � � � �G =� � � �G =� � � �G =� � � �G = ? 
 H D E F
 H D E F
 H D E F
 H D E F (non-homogeneous solution) � �� �� �� �

� �G =� �G =� �G =� �G = ? 				5 � 
� 
� 
� 
 
				b



�������� Vs=100cos(t+30o��������IIII VL �? @ A B C�? @ A B C�? @ A B C�? @ A B C + J K+ J K+ J K+ J K (order)? D E 5 H D ED E 5 H D ED E 5 H D ED E 5 H D E ? L 3L 3L 3L 3 (linear) 5 H L 35 H L 35 H L 35 H L 3 ? � M� M� M� M (time 

variant) 5 H � M5 H � M5 H � M5 H � M ?				N O P Q R @N O P Q R @N O P Q R @N O P Q R @ 



				5 � 
� 
� 
� 
 
				c



���� ���� Vs=100cos(t+30o���������� S�� S�� S�� S i? 				5 � 
� 
� 
� 
 
				d



�������� Vs=100cos(t+30o��������� � � T� � � T� � � T� � � T Vs U V 5 W X � SU V 5 W X � SU V 5 W X � SU V 5 W X � S i Y ZY ZY ZY Z [[[[))))? 				5 � 
� 
� 
� 
 

 
3. �������� 2����\ ]\ ]\ ]\ ] RL + ^ _+ ^ _+ ^ _+ ^ _ (rating) � T� T� T� T 100 ` a` a` a` a ����^ _ � �^ _ � �^ _ � �^ _ � � 10 b a � c db a � c db a � c db a � c d ������������

				a



���� Va=? 				5 � 
� 
� 
� 
 
				b



����Vb=? 				5 � 
� 
� 
� 
 
				c



���� RL � � � �� � � �� � � �� � � � PL? 				5 � 
� 
� 
� 
 
				d



���� IS=? 				5 � 
� 
� 
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